
MATHS

BOOKS - MAHAVEER PUBLICATION

SERIES

Question Bank

1. 3,6,9,12,…..

Each term in a sequence can be referred to by its

place in the sequence, i.e. first term, third term, 

term.

nth

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gbe3cd8PwmEm


Watch Video Solution

2. 2,8,18,32,…..

Each term in a sequence can be referred to by its

place in the sequence, i.e. first term, third term, 

term.

Watch Video Solution

nth

3. Find the general  term for the arithmetic

sequence : 2,6,10, 14, 18,22,…..

Watch Video Solution

(nth)

https://dl.doubtnut.com/l/_gbe3cd8PwmEm
https://dl.doubtnut.com/l/_sPCYeN7vF50k
https://dl.doubtnut.com/l/_IlDKeX1S4M8M
https://dl.doubtnut.com/l/_IIluQ4NBbgcW


4. Find the general  term for the arithmetic

sequence : -5,-3,-1,1,3,…..

Watch Video Solution

(nth)

5. Find the general  term for the arithmetic

sequence : 1,4,7,10,13,16,…..

Watch Video Solution

(nth)

6. Find the number of term in the series 8,12,16,…..,72.

Watch Video Solution

https://dl.doubtnut.com/l/_IIluQ4NBbgcW
https://dl.doubtnut.com/l/_J5vc0BZs018w
https://dl.doubtnut.com/l/_vZIrNs5kYEbJ
https://dl.doubtnut.com/l/_ketgHXVWbRVF


7. Find  if -1,10,21,32,43,54,…..

Watch Video Solution

an

8. Find  if 3,0,-3,-6,-9,-12,…..

Watch Video Solution

an

9. Find the following sums 3+7+11+15+…..+35

Watch Video Solution

10. Find the following sums -2+1+4+7+…..+25

https://dl.doubtnut.com/l/_ketgHXVWbRVF
https://dl.doubtnut.com/l/_vzJRkCe6j88q
https://dl.doubtnut.com/l/_D1k1VsyEuukN
https://dl.doubtnut.com/l/_eemhnAIfE808


Watch Video Solution

11. In an arithmetic sequence  and 

. Find the values of a and d

Watch Video Solution

a1 + a3 = 12

a4 + a6 = 24

12. In an arithmetic series, the sum of the first 2n

terms is half the sum of the first 3n terms. If a = 12

and d = 3, find the value of n.

Watch Video Solution

https://dl.doubtnut.com/l/_eemhnAIfE808
https://dl.doubtnut.com/l/_I7hhP224jWro
https://dl.doubtnut.com/l/_BjDwwW5FHvMx


13. Suppose that you play black jack Harrah's on June 1

and $1000 lose. Tomorrow you bet and lose $ 15 less.

Each day you lose $ 15 less that your previous loss.

What will your total losses be for the 30 days of June

?

Watch Video Solution

14. Insert 5 arithmetic mean between 13 and -11.

Watch Video Solution

https://dl.doubtnut.com/l/_NWiKrtAYTsbd
https://dl.doubtnut.com/l/_EBgWLeSVu3Bc


15. Find the general  term for the following

geometric sequences : 2,6,18,54,…..

Watch Video Solution

(nth)

16. Find the general  term for the following

geometric sequences : 27,9,3,1,…..

Watch Video Solution

(nth)

17. Find the general  term for the following

geometric sequences : 16,-8,4,-2,1,…..

Watch Video Solution

(nth)

https://dl.doubtnut.com/l/_uW6BlwBM3WcN
https://dl.doubtnut.com/l/_OG3Uq5osIupE
https://dl.doubtnut.com/l/_h6GyxAyoR5VL


18. Find the 10^(th) term in the series 2,4,8,16,…..

Watch Video Solution

19. Find the following sums 

First 5 terms of -6+18-54+…..

Watch Video Solution

20. Find the following sums 

5+10+20+40+…..+2560

W t h Vid S l ti

https://dl.doubtnut.com/l/_h6GyxAyoR5VL
https://dl.doubtnut.com/l/_oBw9KOsA1TMG
https://dl.doubtnut.com/l/_KINmmf7xnLnD
https://dl.doubtnut.com/l/_PYsKTHFM6nQ1


Watch Video Solution

21. Find the following sums 

-2+4-8+16-…..

Watch Video Solution

22. Find the following sums 

24+12+6+3+ …..

Watch Video Solution

+ +
3

2

3

4

https://dl.doubtnut.com/l/_PYsKTHFM6nQ1
https://dl.doubtnut.com/l/_XdNFkSMPbFH3
https://dl.doubtnut.com/l/_s42xiA0WnRUI


23. Find the sum of the first 8 terms of the series

2,6,18,54.

Watch Video Solution

24. How much is going to taxes? Suppose that we

track a tax refund of $ 100. Each time money is spend

8% goes toward taxes and the rest get spend again.

How much of the original $100 will go back to taxes ?

View Text Solution

25. Insert two geometric means between 2 and 1024.

https://dl.doubtnut.com/l/_cN8zevUuET3z
https://dl.doubtnut.com/l/_1cnuDXxGM5rH
https://dl.doubtnut.com/l/_2mNdA2ek0GEv


Watch Video Solution

26. If A.M. and GM.
 of two positive numbers a and b

are 10 and 8, respectively find the numbers.

Watch Video Solution

27. The  term and  term of an AP are 68 and 86

respectively. Find the AP.

Watch Video Solution

12th 15th

28. Find the sum: 3+7+11+…..+79.

https://dl.doubtnut.com/l/_2mNdA2ek0GEv
https://dl.doubtnut.com/l/_SmGnfU4zLVIZ
https://dl.doubtnut.com/l/_bWZyBwC2994e
https://dl.doubtnut.com/l/_CmcBAfIa42Dh


Watch Video Solution

29. Find k if 2k+1,k,3k+2 are in GP.

Watch Video Solution

30. Find  term of the GP 1,4,16,…..

Watch Video Solution

8th

31. If x,y,z are in GP, then prove that logx,logy,logz are

in AP.

Watch Video Solution

https://dl.doubtnut.com/l/_CmcBAfIa42Dh
https://dl.doubtnut.com/l/_LgjZDFjHTTVg
https://dl.doubtnut.com/l/_XOO2vkKHTNJb
https://dl.doubtnut.com/l/_N1ELJ2qVAyHp


Watch Video Solution

32. If  term of an arithmetic progression is and

term is 18 and  term is 30, find the progression.

Watch Video Solution

3rd

17th

33. The sum of the series 

terms is

Watch Video Solution

3 + 33 + 333 + .... + n

https://dl.doubtnut.com/l/_N1ELJ2qVAyHp
https://dl.doubtnut.com/l/_wFfcv2ZN0QhI
https://dl.doubtnut.com/l/_v7NKu9gxEOUG


34. Find the three terms in GP whose sum is 21 and

product 64.

Watch Video Solution

35. If a, b, c are in A.P. and x, y, z are in G.P., then prove

that : 

Watch Video Solution

xb− c. yc−a. za− b = 1

36. If a b c are the ,  and  terms of an AP then

prove that 

pth qth rth

∑a(q − r) = 0

https://dl.doubtnut.com/l/_ku0CcNusZUKk
https://dl.doubtnut.com/l/_m02hj2qHTKlY
https://dl.doubtnut.com/l/_moSis9nRSHEt


Watch Video Solution

37. Show that, 

Watch Video Solution

loge 2 = + + + .... . ∞
1

1.2

1

3.4

1

5.6

38. Show that, 

Watch Video Solution

ex + e−x = 2(1 + + + .... )
x2

2!

x4

4!

39. If,

y = x − + − + .... ∞ and (|x| < 1)
x2

2

x3

3
x4

4

https://dl.doubtnut.com/l/_moSis9nRSHEt
https://dl.doubtnut.com/l/_q0Vypa7QXAkt
https://dl.doubtnut.com/l/_nIKSZ6V5hzyi
https://dl.doubtnut.com/l/_jryOtxNkDUos


then  Find 

Watch Video Solution

x = y + + + ...... + ∞
y2

a !

y3

b !
a2 + b

40. Prove that,

Watch Video Solution

− + − .... . = 2 loge 2 − 1
1

1.2
1

2.3

1

3.4

41. Show tha, 

Watch Video Solution

1 + + + .... = (e + )
1

2!

1

4!

1
2

1

e

https://dl.doubtnut.com/l/_jryOtxNkDUos
https://dl.doubtnut.com/l/_ltthPl7H9z8X
https://dl.doubtnut.com/l/_q0l9vcfvZsKQ


42. Prove that,

Watch Video Solution

− + + .... . = 1 − loge 2
1

2.3

1

4.5

1

6.7

43. Prove that,

Watch Video Solution

1 + + + + .... =
1 + 2

2!

1 + 2 + 3

3!

1 + 2 + 3 + 4

4!

3e

2

44. Find the sum of odd integers from 1 to
2001.

Watch Video Solution

https://dl.doubtnut.com/l/_l1lScmXuYP4P
https://dl.doubtnut.com/l/_EiWVO3HPTU5W
https://dl.doubtnut.com/l/_mYXnIEfgMf3P


45. Find  term in 09,17,25,33,…..

Watch Video Solution

11th

46. How many terms of the A.P. 

are needed to give the sum -25?

Watch Video Solution

−6, − , − 5…
11

2

47. How many terms of the series : 93+90+87+84+…..

Will amount to 975 ?

Watch Video Solution

https://dl.doubtnut.com/l/_1QqapD5w1glu
https://dl.doubtnut.com/l/_JhyITsfNvUMa
https://dl.doubtnut.com/l/_7ak1qgN9WT1O


48. Find four arithmetic mean between 3 and 23 ?

Watch Video Solution

49. Insert two arithmetic mean between 16 and 22.

Watch Video Solution

50. Insert three arithmetic mean (AM) between 1 and

.

Watch Video Solution

1

16

https://dl.doubtnut.com/l/_jKduf02B1Rru
https://dl.doubtnut.com/l/_vuYBfQlXnugp
https://dl.doubtnut.com/l/_ASBBRVHkJ9Pd
https://dl.doubtnut.com/l/_Nb5gjw1bpmFE


51. Insert four arithmetic mean (AM) between 4 and

19.

Watch Video Solution

52. Insert three arithmetic mean (AM) between 6 and

18.

Watch Video Solution

53. Is 292 a term of the A.P. series 1,4,7,10,…..? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_Nb5gjw1bpmFE
https://dl.doubtnut.com/l/_u205yn1SAR9E
https://dl.doubtnut.com/l/_o17qN4vboBhQ
https://dl.doubtnut.com/l/_kZfRFkgRgNTN


54. In an A.P the  term is  and the  term is 

. 

Find the common difference.

Watch Video Solution

1st 2√2 13th

8√2

55. The  term and  term of an AP are 68 and 86

respectively. Find its  term

Watch Video Solution

12th 15th

18th

56. If A.M. and GM.
 of two positive numbers a and b

are 10 and 8, respectively find the numbers.

https://dl.doubtnut.com/l/_kZfRFkgRgNTN
https://dl.doubtnut.com/l/_gnZxJE3V9Ytd
https://dl.doubtnut.com/l/_WCppFT4yTh01


Watch Video Solution

57. Find the sum of first n terms and the sum of first 5

terms of the geometric series 1 + +

Watch Video Solution

2

3
4
9

+
.
.
.

58. Find the sum of
the sequence 7, 77, 777, 7777, . . . to

n terms.

Watch Video Solution

https://dl.doubtnut.com/l/_WCppFT4yTh01
https://dl.doubtnut.com/l/_errIrgn1P8od
https://dl.doubtnut.com/l/_kkwSqOVf7jrM


59. How many numbers divisible by 17 are there in

between 25 and 450 ?

Watch Video Solution

60. For what value of x, the number are

in G.P.?

Watch Video Solution

− , x, −
2

7

2

7

61. Insert three geometric mean (GM) between 1 and

.

Watch Video Solution

1

16

https://dl.doubtnut.com/l/_7vzZHxOPl2et
https://dl.doubtnut.com/l/_QxOFdyyoGy9w
https://dl.doubtnut.com/l/_UnBerfIi3CJ7


62. Find three numbers in G.P. whose sum is 19 and

product is 216.

Watch Video Solution

63. If 
 are respectively the 
 terms

of a G.P. show that

Watch Video Solution

a, b, c pth, qthandrth

(q − r)loga + (r − p)log b + (p − q)log c = 0.

64. Find the  term of the sequences -6,-18,-54,…..12th

https://dl.doubtnut.com/l/_UnBerfIi3CJ7
https://dl.doubtnut.com/l/_0EDhRl09h0Me
https://dl.doubtnut.com/l/_nwvxWmNQo3LP
https://dl.doubtnut.com/l/_6E3yKBMKr4lq


Watch Video Solution

65. Find the sum of 2+4+8+16+….. to 8 terms.

Watch Video Solution

66.  terms =

Watch Video Solution

1.3 + 3.5 + 5.7 + .... . n

67. Find the value of a' if (2a+1),a,(3a+2) are in G.P?

Watch Video Solution

https://dl.doubtnut.com/l/_6E3yKBMKr4lq
https://dl.doubtnut.com/l/_m0qpp1ZsKTnj
https://dl.doubtnut.com/l/_ciXyjsXcquPk
https://dl.doubtnut.com/l/_nZJlsuDxuRYk


68. Statement -1: The sum of the series 

 is e 

Statement 2: The sum of the seies 

Watch Video Solution

+ + + + . . → ∞
1

1!

2

2!

3

3!

4

4!

x + x2 + x3 + x4. . → ∞isxex
1

1!

2

2!

3

3!

4

4!

69. Prove that

Watch Video Solution

+ + + + .... . = xex
x

1!

2x2

2!

3x3

3!

4x4

4!

https://dl.doubtnut.com/l/_4lTUCFlr6UNL
https://dl.doubtnut.com/l/_KiqEGnKJtdLR


70. Prove that

Watch Video Solution

+ + + + .... . = 2e
12

1!

22

2!

32

3!

42

4!

71. Prove that

Watch Video Solution

+ + + + .... . = 5e
13

1!

23

2!

33

3!

43

4!

72. Prove that

Watch Video Solution

+ + + .... = log 2
1

3

1

3.33

1

5.35

1
2

https://dl.doubtnut.com/l/_2kKaXQgRwpJg
https://dl.doubtnut.com/l/_g9ZdEVbjavVA
https://dl.doubtnut.com/l/_iIXVlBDzggYs


Watch Video Solution

73. If , then sum 

……….

Watch Video Solution

1 − + − + . . = loge 2
1
2

1

3

1

4

+ + + +
1

1.3

1

2.5

1

3.7

1

4.9

74. Prove that,

Watch Video Solution

+ + + + .... . = 4e
1.3

1!
2.4
2!

3.5

3!

4.6
4!

https://dl.doubtnut.com/l/_iIXVlBDzggYs
https://dl.doubtnut.com/l/_ejysfYrp1gIS
https://dl.doubtnut.com/l/_6FDeaoOFAUWX


75. Show that,  if 

Watch Video Solution

= 1 + x + x2 + x3 + .... ∞
1

1 − x

|x| < 1

76. 

Watch Video Solution

=
+ + + ......1

2 !
1

4 !
1

6 !

+ + + ......1
1 !

1

3 !

1

5 !

https://dl.doubtnut.com/l/_dCTcgzDnqvID
https://dl.doubtnut.com/l/_WiiHVKnQRqLI

